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At early times
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If # sites / enzyme = I

then turnover number = Keat

catalytic Efficiency - how effectively
an enzyme converts substrate to

product
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Introductionto statistical thermodynamics
(Barrick chapter 9)
-

Kon

toff
= keg = e-

SEAT

Didn't see
.
how this arises

for a collection of molecules

statistical thermodynamics corrects
average properties of sets of molecules
with Macroscopic thermodynamic properties
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I
whatif we could
watch this molecule

/ and see its cfg.us time

can do this with a simulation

Assume all Molecules obey newton's equations

F. = mi ai for every atom

Fi = - §Y⇒Tµ×→, force field
Problem is that real systems have Nnl
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Because real systems are large
-we will treat them statistically

what would happen if we watch
a 2 state molecule in H2O

Q
earnerf-



#Ko→b -Ae
-ERT

Q
annum

#t

v±-r



•

Trompe
Auto correlation function
tells us over what period of trine
is a molecule's configuration correlated
with itself
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